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Simplify each expression.

1) (@ =7r+87) + (4% + 8r + 61°)

3) (8n+5n2—4) - (5-n-3n?)

5) (8 —1-4n)+ (Tn+n+1)

7) (8x> + 8x+4) - (3x* =2 - 5%)

9) (8x® —2—7x*) — (8x® + 4x — 3x?)

11) (5x% —4x> = 5x) = (4x* - x - 7)

13) (5 —4m +2m?) — 3m® - 6 + 6m) + (6m* — 6)
14) Brn+8-1?) + (8n+5 +n?) + (8n% - 2n)
16) (7+7r =)+ 2 -4 +5/) - (2~ 37
18) (3x+1+5x%) + (7 +3x* - 5%) + (4x — 8)
20) 2-3r-7) =22 +7r+ 1) - (5 - 612
22) (3r* +5+7r) = (8r + 412+ 5) + (8r - 3)
24) (5% + a+54%) - (3 + 4a* + 8a - 54°)

26) (7+3x=7x%) + (x® +3x% + 8x - 1)

Name

2) (7x* = 5-7x%) = (2x® = 3x2 +2)

4y (2b* - 5b° — 6b) — (65 + 562 — b)

6) (6x* +4x> + 7x) + (6x° + 7x* + 6x)

8) (8+2x+7x%) +(2x* - 6 — 6x)

10) (3v3 - 6v — 7v2) - (4v +6v? + 8v3)

12) (x* -3 =2x%) + (7x* — 4 + 4%°)

15) (4x2 + 6x+3) = (5x — 7 — 4x%) - (3 — 4x?)

17) (3n —6n° + 5) - (4n —6n° — 5) -—(4;12 + 5)

19) (4n® +2n=3) = (7 + Tn* +7n) - (2 - 2n)

21) 3P —8r+7)+ (52 +7 - 4r) - (7r - 8)

23) (m? —m® +2m) + (8m® + 4m® + 5m — 1)

25) (20° + 70 = n) = (8n + 60 — 2n* + 5)

27) (8% +5—2n) + (70 + 4n+ 5 + 8n%)



rind the PERINVMIETER of the shape.
Equation: Perimeter = Sum of all the sides

| 3-2x 9x —3y +2
4x - 8 2a-b 3a-b 2y—-3x-3

12 +5x+ 7y

11+y 3a-b
3b-4a+5 7+ 3x 4z +3
6+Za 6+za SXZ_Z 42""3
3b=-4a+5
3% +5x+7 3ab + 43>

3%’ — 4x 3x% - 4x
Gx-y /
3x* +5x + 7 7 - 2x 7 —-2x
, 6b” - 5ab

5x*+7x +3



